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AMA [1,602]2,014|1,843|1,647|1,781|1,964|1,988|1,774|1,978 | 1,660 | 1,870 | 1,936 | 1,776

ZHE8|-73| 42 | -85|-107| 38| 23 | 138 | 99| -14 |-115| 14 | -0.1 | 109
b | 818 | 758 | 777 | 723 | 735 | 678 | 641 | 655 | 643 | 658 | 577 | 584 | 557

S = | 904 |1,205[1,113| 985 [1,099|1,347|1,292 | 1,139 1,239 | 1,048 | 1,177 [ 1,171 | 1,041
ZZ& |-123| 103 | -5.1 |-126| -0.6 | 21.0 | 26.7 | 32 | 63 | 63 | 59 | -1.3 | 15.2

Ch7} | 867 | 577 | 624 | 598 | 584 | 540 | 517 | 519 | 513 | 512 | 457 | 440 | 450

o =2 | 569 | 555 | 619 | 438 | 548 | 509 | 554 | 545 | 635 | 500 | 580 | 567 | 552

ZE| 50 |-241| -80|-196| 1.7 [-179| -89 |-196| -33 |-105| 37 | 33 | -30
b | 765 | 821 | 733 | 779 | 756 | 702 | 656 | 658 | 629 | 620 | 585 | 570 | 581
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‘152 | 3 4 ) 6 7 8 9 10 11 12 |16.1 | 2P
T AMIAH 406 | 550 | 531 | 425 | 428 | 488 | 509 | 507 | 470 | 427 | 497 | 506 | 524
‘ CHoF | 511 | 464 | 435 | 425 | 417 | 399 | 388 | 367 | 351 | 337 | 320 | 305 | 309
E = | 213 | 350 | 274 | 223 | 201 | 267 | 288 | 285 | 248 | 226 | 279 | 319 | 241
‘ CHIb | 492 | 445 | 422 | 410 | 406 | 382 | 373 | 345 | 331 | 320 | 299 | 291 | 293
o 2 | 186 | 185 | 218 | 163 | 207 | 201 | 204 | 212 | 210 | 187 | 207 | 170 | 264
‘ CHob | 528 | 486 | 445 | 437 | 420 | 411 | 401 | 390 | 371 | 350 | 342 | 326 | 321
O (FFW) FTI4HRAN 43% 1, WHE) FYO] &F A3 wid B4
(0161%, 520 E) ZFAE AA £ A= FF F4(205%, 2061 &)
<E%@ UMY Fo| >
(ehel: ®E, %, USH)
‘152 | 3 4 5 6 7 8 9 10 11 12 |4161 | 2P
HAMA | 207 | 311 | 264 | 209 | 248 | 223 | 189 | 173 | 219 | 203 | 250 | 214 | 206
‘ CHoF | 666 | 668 | 621 | 593 | 601 | 629 | 599 | 600 | 564 | 523 | 484 | 517 | 497
s = 141 | 212 | 181 145 | 143 | 148 | 125 | 123 | 153 | 130 | 190 | 151 147
‘ CHoF | 556 | 540 | 513 | 481 | 480 | 488 | 451 | 466 | 419 | 408 | 381 | 389 | 366
od 2 62 93 76 59 9 66 56 44 62 66 52 55 52
‘ CHoF | 801 | 829 | 711 | 692 | 706 | 748 | 748 | 751 | 647 | 609 | 685 | 617 | 653
o (A ) w43 VM T4 622% 1, 780 E)F YE1K281.2% T,
8HE)S FFoz Hdn 771% S71e 89HE
< H2 $YAH Fo| >
(chel: ME, %, USY)
‘152 | 3 4 5 6 7 8 9 10 11 12 [16.1 | 2P
HAMIAH 50 67 77 50 63 | 147 | 188 | 135 | 128 | 82 80 | 100 | 89
‘ CHob | 404 | 397 | 370 | 365 | 367 | 361 | 356 | 357 | 352 | 336 | 320 | 306 | 283
s = 48 56 74 44 61 132 | 168 | 123 | 111 62 60 77 78
‘ CHIb | 401 | 381 | 365 | 357 | 357 | 351 | 344 | 345 | 339 | 306 | 298 | 283 | 270
o4 2 2 1 2 6 2 15 20 12 13 15 16 17 8
‘ CHoF | 481 | 469 | 480 | 410 | 595 | 442 | 450 | 474 | 440 | 417 | 386 | 388 | 384
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‘ Chot | 486 | 460 | 440 | 401 | 407 | 409 | 449 | 444 | 445 | 424 | 416 | 402 | 372

FAANY] ANAHFES AA 439%, B4 401%, qFZY
5 = 48 87 70 74 149 | 128 37 53 56 44 65 55} 50 o

‘ Chot | 461 | 437 | 426 | 395 | 402 | 406 | 412 | 420 | 426 | 406 | 398 | 364 | 344

g = 7 6 4 0 2 3 7 6 4 5 14 19 6

| =7t [ 500 | 723 | 601 | 756 | 613 [ 536 | 638 | 619 | 686 | 523 | 495 | 462 | 528 <Fe F=Y oM MFERE(16.18)> ol 21z o
YELH| | MAMA = e gt =
<F2 E9¥ +9 4F> : is is "s
(Etel: BE, %) HZA 4,635 1,936 41.8 1,171 25.3 567 12.2
e 5.4 e HZ 277 82 29.5 55 19.8 19 7.0
“42 | 13 | 14 | 15 | 28 | 19 | 28 [maw [Mdel | o= 1728 [ ®uyl | o= =z 319 128 40.1 112 35.0 12 3.8
M2 | 1726 1616|1895 | 1838 | 1967 | 1986 | 1776 | -83| -83| 1000|3712 | 49| 1000 Az 220 97 43.9 61 27.7 31 141
oolzimt | 430| 416 475| 482| 547 | 506| 524 | 86| 42| 295|100 | 81| 277 ! 782 214 27.4 151 19.3 54 7.0
E%E | 33| 283| 286| 20| 27| 214| 206| -37|-189| 16| 420| 136 | 113 simel 1204 488 398 302 046 168 13.7
WAE | 200 | 199 | 256| 245| 261 | 341 253|258 | 31| 142 504| 165| 160 — 8 1s 169 13 s 00
22| 73| 84| 106 94| 14| 128| 126| -16|-125| 71| 264| 55| 68 - - o 203 - s ; -
M | 180| 18| 15| 17| 125| 97| 102| 52|-184| 57| 199| -100| 54 N TR T BT [T E = T v T TP T
ofel= | & | 93| 106| 9| 9| 108 9|-148| -42| 52| 200| 11.8| 54 . Uiz E SolEAE S 475mm 010k (475mm O|ALS ES ol E &
HelzZt | 67| 77| 8| 78| 47| &| 62|-244| 319 35| 14| 400| 39
2@ | 63| 65| 65| 50| 65| 54| 42|-22|-864| 24| 9| 40| 26
doizimh | 56| 57| 63| 65| 65| 98| 94| 41| 46| 53| 1@2| 282| 52
¥ 2| 4| 39| 5| 9| 55| 100| 89|-110| 61.8| 50| 189| 795| 5.
ZepE | 17| 20| 34| 20| 13| 13| 14| 77(-674| 08| 27| -158| 07
JEiEz | 11 15| 20| 18| 15| 20| 18|-100| 59| 10| 88| 194| 10
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2 M A 5 = 2 =
= =g HAH| =g HAH| H|E =g HAH| H|E
H Z A A 776 10.9 1,041 15.0 58.6 552 -29 31.1
= 83 zZ 5 423 13.9 325 13.5 76.8 79 8.7 18.7
3 Z 104 -17.3 74 -18.9 71.2 24 -27.9 23.1
H & Z 62 10.6 50 53 80.6 6 -20.4 9.7
S z 126 30.7 104 29.6 82.5 19 547 15.1
| =2 89 77.1 78 62.2 87.6 8 281.2 9.0
M | 102 6.2 68 46 66.7 29 1.6 28.4
2 58 Z 28 -15.2 19 -25.0 67.9 9 20.2 32.1
g = Z 74 17.4 48 24.3 64.9 20 8.3 27.0
Al = 2 -27.3 1 -36.7 50.0 0 21250 0.0
= o 7 1,001 17.1 595 11.9 59.4 364 24.8 36.4
s = # 206 -05 147 43 71.4 52 -16.3 25.2
2 5 Z 159 -06 113 1.0 71.1 43 -25.3 27.0
g = Z 47 0.0 34 -12.9 72.3 9 106.2 19.1
o I A 566 24.6 275 11.6 48.6 267 38.1 47.2
2 5 Z 454 23.7 182 2.7 40.1 253 383 55.7
g = Z 113 28.6 93 34.4 82.3 14 35.0 12.4
o4 o 2 o 94 29.6 59 21.2 62.8 29 68.5 30.9
2 5 Z 61 75.9 37 26.8 60.7 23 865.6 37.7
s = Z 33 -12.4 22 12.9 66.7 6 -56.8 18.2
I B2 7 486 5 90.6 71.4 1 -26.5 14.3
of of = 2+ & 92 10.2 85 21.8 92.4 7 -45.0 76
A= 14 5.0 14 55 100.0 0 77 0.0
Nz ZE 3 -20.0 2 -27.4 66.7 1 39.6 33.3
7] B} = 2 18 20.8 8 75 44.4 7 53.1 38.9
z 2 42 -30.9 30 -17.8 71.4 8 -52.0 19.0
5 H#H 0z 2,395 5.6 1,141 12.9 476 834 1.6 34.8
* B4-AELA HER2 MA Ui H][ES
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(Etel : HE, %)
2= oM A 5 = I
= =2 ZAH| 2 ISl H|E = Hds| H|E
2 Z N A 3,712 49 2,211 5.8 59.6 1,118 0.2 30.1
s 8 Z 7 886 8.4 668 8.1 75.4 176 2.4 19.9
e z 240 -2.1 165 0.5 68.8 61 -20.3 25.4
H 8 Z 143 39.5 105 20.2 73.4 25 95.3 17.5
S5 z 253 55 215 35 85.0 31 29.7 12.3
S| =2 189 79.5 155 57.7 82.0 24 262.6 12.7
M W 199 -10.0 129 -9.3 64.8 59 -86 29.6
2 58 Z 56 -97 38 -18.9 67.9 18 185 32.1
s = Z 143 -10.1 91 -47 63.6 41 -16.9 287
Al e 5 -16.3 4 -26.1 80.0 1 2732 20.0
® XN 7 2,011 34 1,272 1.5 63.3 647 35 32.2
s = # 420 -13.6 298 -13.8 71.0 106 -18.2 25.2
2 &8 Z 341 -10.5 237 -6.1 69.5 95 -23.6 27.9
g = Z 79 -24.8 60 -34.7 75.9 1 110.9 13.9
g oz 1,112 74 616 6.0 55.4 445 45 40.0
2 &8 Z 866 1.1 408 -78 47 1 421 48 48.6
g = Z 246 34.9 208 49.7 84.6 24 -1.0 9.8
o4 ooz 193 23.2 109 0.8 56.5 67 107.0 347
2 & Z 126 52.6 72 -1.2 57.1 51 13583 40.5
g = Z 66 -9.9 37 49 56.1 17 -41.9 25.8
I B2 16 14.4 12 236 75.0 3 -17.9 18.8
ofof = Z+ & 200 11.8 184 20.2 92.0 15 -35.6 75
Z g o 27 -15.8 27 -14.6 100.0 0 -95.8 0.0
Mo ozt oE 5 -28.1 4 -29.9 80.0 1 -9.4 20.0
7l &t = 2 39 19.4 22 16.2 56.4 10 1.5 25.6
z 2 96 -24.0 69 -7.6 71.9 15 -55.5 15.6
3OH Z 5,037 26 2,446 45 48.6 1,641 45 32.6
* S-AEM HE2 MA o] H|E5



